Electrons are made of Higgs Particles
Ode To Electron Mass as Count of Higgs Particles
 
Atoms have electrons in really huge number. 
Electron sharing is molecular  thunder.
Protein molecules and water give birth to life.
You name it and it's all about electron strife.
Electron bound molecules form all we feel and see;
Solids, liquids and gases make our cup of tea. 
Electron count and density leads to weak or strong.
One electron is the least mass that can go on.
Planck's constant h is smallest energy and mass
Anthropic measure makes the electron "Higgs gas"
 
Closed loop electron as binding agent and Way to "see" By 
 
An electron being shared by two molecules is the smallest gaseous component of "bound" visible matter. The shared electron must be alternately emitted and absorbed by each molecule but it may originate from and periodically return to the nucleus of one of the molecules. The spatial and temporal complexity of electron interchange between molecules is effectively without limit. Molecular solids are much more firmly bound by closed loop electrons and involve nuclear level interactions in great number and variety. The electron mist be viewed as a constant mass of h grams—as quantum (least) mass--with an energy that can range from h ergs minimum to 1/h ergs maximum. The h-symmetry makes statistical prediction a piece of cake while hiding deterministic truth. Unseen real world determinism begins where the electron has maximum energy thus defines a black hole (BH). 
 
The atomic central nucleus is known to have a radius of about 10-13 centimeters so we should make that a trial radius for its central black that stirs the dark matter that defines its gravity field.   The outer boundary of the atom  as we electron microscope see it, is at about 10-8 centimeters as most consistently defined by where the dark matter is circulating at a speed of c. Call this visible c-boundary of the atom a shell that allows electrons to circularly orbit in an time-space orthogonal manner in two dimensions unit that shell is said to be full in a 3-D way. We get to see the hydrogen atom because its single in-out oriented Z-electrons shuttles outside one of the many circular electrons binding its c-boundary to continually mark its interactive energy state. When two hydrogen atoms are said to be bound to one another, it means they are sharing one or more circular orbit electrons being shuttled back and forth by Z-electrons. 
 
As we step up the periodic table the number of Z-electrons that come and go shuttling circular orbit electrons, tells us how many shells are being populated and bound by circular orbit electrons. The number of shells, n, tells us the position of that atomic element in the table and its number of Z-electrons. 
Now see the deterministic necessity that the number, n, of in-out oriented Z-electrons coming and going from its visible c-boundary is physically telling its surroundings what its energy state is—and is allowing us to see it. If an atom next door in one of six vibration degrees of freedom is more electron energetic, it will offer one up for absorption so that the two atoms become lightly bound to one another along an electron-defined line that connects them. Electron sharing to reach position-local energy state dynamic-equilibrium, serves to assemble, maintain and/or disassemble all visible matter as we experience it. That experience can only be effected one electron exchange at a time at any one degree of freedom interface between one atom and another at one electron-defined moment of defined linear space and time-- as such words apply to visible matter. 
 
You can predict using Standard Model problematic math, but using it to see by makes you blind to the local electron-event mechanics of physical reality. The current models of the electron, the atom and the molecule are grossly false! Real world physics need to start over per Einstein's unsuccessful argument with Bohr. Einstein could not explain the so call atomic spectra using his theory as it then stood, and the statistical Bohr model of the atom could explain---by letting God play dice inside and outside each atom! Determinism rules inside the atom just as Einstein insisted. 
 
 Deterministic atomic truth says some number of circular electron orbit shells must discretely pack the atomic gravity field sphere-- all the way from its c-boundary at 10 -8 centimeter (cm) down to the BH radius at say 10-14 cm—chosen for h-symmetry reasons. One can then see vividly the necessary electron hosting shell structure of the atomic gravity field.   The Z-electron shuttles circular electrons in and out such as to mark the shell-population energy state of the given atom. Hydrogen has just one Z-electron coming and going so it must have one filled up electron orbit shell, the c-boundary shell with a population of two circular electrons that bind it loosely in two dimensions. Clearly one of those electrons can be shuttled in and out by its   Z-electron--to mark its bottom of the periodic table energy state. When n = 2 (helium), it means the innermost of two shells is fully populated and can host no more--forcing an outermost shell bound in two dimensions by at least two circular orbit electrons --orbiting orthogonal to one another in shell-local space and time. 
 
A maximum-density-populated electron shell has 1/h circular orbiting electrons for each of two dimensions, or total number of 2/h.  An outer shell just being populated can have from 2 to 1/h less 2 circular orbiting electrons binding it. As we go up the periodic table,  n is a count of fully populated shells so that the minimum circular orbit electron count is 2n/h plus 2. Beginning with Hydrogen there are roughly 10 26 circular orbit electrons (a practical infinity!) that can be shared to bind with other atoms! This is how grossly off target our physics visualization is at the present time. The energy hierarchy inside the atom tells us that it is a concentric shell structure filled with increasing infinities of circular orbit electrons as a central causal BH is reached. That BH has a dynamic (growth/decay) radius yet to be defined. The problematic Bohr atom model needs to be junked, and physics restarted to focus on the electron as a helical string wave of Higgs particles that is much longer than it is wide. 
 

Electron as helical string wave of G-size Higgs Particles 
The electron minimum energy of h ergs with mass of h grams can only be measured outside the atom per E = nhf = Mv2, where v is constant for the given transfer medium. Mass is thus defined by M = nh.  Measured frequency is then the number of electron pulses per second. Now let n = 1/h electrons to make frequency, f, a direct measure of total energy in ergs; and if n = 1 electron, it means that when v2 = unity, each electron pulse corresponds to one photon = minimum energy quantum of h ergs. One electron is the minimum (quantum) mass we are able to measure in the sense of E = Mv 2 where v equals one centimeter per second. Electron energy is minimum at h ergs. The identity Mv2   nhf  makes f  v2. Frequency of electron pulsing is indeed a direct measure of energy. Maxwell had concluded we measure physical reality one molecule at a time but neither he nor Einstein picked up on it in terms of the electron--- as quantum h mass and h energy when v = 1 cm/sec.
 
Ideal fluid dark matter must be seen as auto-granulating for least friction of spin motion. That is, a spinning R-size volume of space-time must have its outer surface defined by ball bearing G-size Higgs particles so that R/G ( 3-axis spin energy of R!  Einstein's space curvature parameter, G, is the R-surface defining Higgs particle that counts as a unit of spin-surface mass that produces least friction with the R-size material point next door-- in each of 6 degrees of direction for constant spin/vibration motion contact. The infinite nesting of spherical material points leads to all possible sizes of R and G without possibility of limit ---big or small! As anthropic truth, we only get to experience a limited range of R and G sizes that motion-relate directly to atoms and molecules—always “no nothing”  interactively-immersed by dark matter.   

 Kepler's and Einstein's Universal Harmony ((UH) as simplified space curvature, can then be stated as G  R/3v2  R/M. A ray of radiation is a continuous line of R's and it takes 1/h of them to form one electron segment that has a mass of h grams and energy is inversely proportional to measured distance. When the measured space interval of distance for the electron as a ray of radiation made up of R's is minimum—it is given by the orbit perimeter at the BH of the atom, on the order of 10 -14 cm.  Electron energy there is maximum at 1/h  1026 ergs. When in open space where the v = c,  f = c 2, and the length of the electron segment of radiation must be equal to c so that E = Mc2 = nhf, h is in grams but n = 1/h  photon-quantum pulses around a count of 1/h R's,   must reach a distance of c centimeters each second of travel. Average R distance as measured for the electron ray of radiation in open space must be R  hc  10-17 centimeters (cm) as R distance where UH says that G  R/3c2  10-38 cm. Electron energy in open space is Mec2 = hc2  10-6 ergs.
 
In the atom at the outer surface of its BH, the G-size Higgs particle marks a space curvature radius of about 10-40 cm. The difference is one of speed, vmax = 1/3h  237c  or 3(vmax)2 = 1/h,   and with the atom's BH radius at R = 10-14 cm, Universal Harmony (BH) demands that R/G = 1/h. The electron's maximum  3-axis energy is 3(vmax)2 . To see that this is a correction/completion of Einstein's theory, click on http://www.geocities.com/CapeCanaveral/Hall/2638/1MrMorganNewPhysics.doc
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